THR2OFE AHIERIRR

mifzemE EPET ] =k [REIENESS B =} W 1E B B 1B
402028 L KA SHEHAXEEE | of 0 P - IR AT 1
B RKES
IREHOKRIEEE | of 0 FTEEERE (RFTEE28, ) nf 15,625
EREASESHAD H30.1.157%) 116,578 A e RS o | A 0 VNS 7 5
RS RENEEEE | 0 — o .
(SBBKCHDBED) IS Eee 151
RAEHKAD - .
s G Coereihaen A 0 SIERMAR A 0
- o = RIS BEEEEE | A it
IC] 8 # & e nf 0 BHREE =1 fEiP 0
FILE m 593,158 _ BSotmaen | A 0 e i 2
B TKESE | MEEZEEIKES KR EE REE - TRALE
ik t 3,777,204 REPAREER | 0 SEBEY | A 17
) ERITL it 243 ) D o | A 0 A it 7
P G 2NN PR EEE VNES
e Z0tt T 0 (S HD D) ot 0 SERISH A 29
J,\[E]
LsBE BTN ot 1,226,741 REHKAD | A 0 Gl Wit 1
a5 NVREESHIK IR HEES = ST MES
Zots ot 0 REKKAER | 0 SEBER | A 18
a8 (= b= 2,820 D235+ - IS5V RWBAO A 0 S &7 0
=t Py - : P——— - zomo | B8 —
SHAEES P i 2,200 SHUBSCEZAD A 21,567 Zen, SIS A 0
THETATITHBES
BBIER (HEAD m 102,330 _ |ThEJRYIYINESR = i 1 SR & 2
RBM - L=
WBILER (FhEA) m 6,995 Bt —BPBIFHAS IR (BT i 0.0 SIEBEH A 9
MEAD A 38,531 L S | PERITIHEE B i 0 ETE Sl 1
L/ElK }gﬁﬁ;gl _ B%J:ﬁﬂt}ﬁt’%
BEEEY) FRMBINES K 63,487 * —EPBIBHAB TS | BT #i7 0.0 SIS A 0
A2 pEe WIEAO A 115,803 mwe s | DOAIIIREER ELE (RiT 0 " e (i 1
M = FFERIS
FREMBINES t 38,092 A —ERBIBHAB TS | BT 7 0.0 SIS A 0
AETATE A 0 = Jugy |FRIEEE | THEIRIZHES BRI T 0 Gl i 2
EZKE e A T=
—HEHESE | A 0 8% =LA —BBIFHAS IR | BT i 0.0 SIEBEH A 0
FikiESE |#EKAD
ey AW A SR o ~ — B4 s
Sk HENE A 0 EmE A GELIES VA EERTEL T 0 REEVY Sl AT 0
H4E HER - N
PSR | _memmss | o 0 ™A _memmsies mra @ 0.0 BEOR B i 0
REBKAD | A 73,546 . IR | THETAY TIMEES EERTEL fET 0 BROR SRS A 0
REENEES
SEHKRISERE | nf 29,480,000 SR | BT IIiEES EERTEL fET 0 ! FET 98
- LR
RESKREEE | nf 16,286,200 & E YHE | OISR ElES T 0 LETE nf 12,673
SHERAUBIS | (i 2| [BE, . e |HEIRIINES B T 0 ity (1D nt 3,557,701
CEER |cCtE THEE
TKBZ | NHETKE IERFAIBISH | i 2 2y EER) | o 500,212
RBEHE
SEIMERISER | ot 29,480,000 ity (tiE) ot 237,700
R
TBAE
BHEIMERISER | ot 16,286,200 2y EER) | o 5,079
BEMEREAAD | A 73,546 THRRREES Tih (i o 0
2&
FHOKHETRERAD | A 52,195 ZDHOEE T (S ot 0




